ED-115

M.Com. 3rd Semester
Examination, March-April 2021

Paper - V

Accounting for Managerial Decisions

Time : Three Hours] [Maximum Marks : 80
de gt gl & SW AW wf Tl Fosw
peic i
Note : Answer all questions. All questions carry equal
marks.
TS / Unit-I

1. TF T U9 & F<Hd o WeE § | Y
T M @ U =wa § SR 3% ThiEd
e % Y H g ded § | e faer
3T T :

e Tl [

T &Hdl 60% 60%
fawa ¥ 1,20,000 ¥ 3,00,000
PIECRENIGIRGIRI ¥ 90,000 ¥ 2,20,000
e @rma ¥ 25,000 ¥ 40,000
MU o § T —

() Tafya wmve &t F awa gt N9 W
e 9 7 oy g A B2

DRG 237 (8) (Turn Over)



(2)

(i) Tehihd &THAT o 75% h1d TX CATHGTIH
ERINEtI
(iif) T8 Taha T ¥ 60,000 T FA ATH T ?

There are two plants under the same
management. The management wishes to
merge these two plants and to run them as
one integrated plant. The following particulars
are made available :

Plant / Plant /7

Capacity in operation 60% 60%

Sales ¥ 1,20,000 ¥ 3,00,000
Variable Cost 90,000 ¥ 2,20,000
Fixed Cost 25,000 ¥ 40,000

You are required to state :

(/) What would be the capacity of merged
plant to be operated for no profit-no
loss ?

(if) What would be the profitability on
working at 75% of the integrated
capacity ?

(iiif) What turnover would give on over all
profit of ¥ 60,000.

37947/ OR
‘gt A ‘e’ vl o W ara &
F qfm €2 3@ fola &1 gwifaa @
A T HRhI i fag=q1 S|
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(3)

What is the role or marginal costing in the
decision of ‘Make’ or ‘Buy’ ? Discuss the
other factors which effect this decision.

ST / Unit-I1
2. foxita foeruil & foweraor 9 o9 %1 9werd € ?
! fafu= faftrl e 2w =t =amen wifee |
What do you understand by the analysis of

financial statements ? Explain its various
methods and objects.

37947 / OR
=1 gH&l ¥ UM ST :
() ] AU

(i) FRO-9HAT AU
(iii) TR wEafd ST,
(iv) YA &Hal 3T,

(v) T 3T

z
quar S gSh 2,00,000
=g wg Sifdi 90,000
10% SROTq 1,50,000
MRS <F (TAER) 30,000
et Tt (IS) 3,50,000
ey 45,500
AR 9T (TER) 12,500
UhS 62,000
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(4)

From the following data calculate :
(/) Current Ratio;

(if) Debt-Equity Ratio;

(iii) Fixed Assets Ratio;

(iv) Solvency Ratio;

(v) Proprietary Ratio.

F
Equity Shares Capital 2,00,000
Reserve and Surplus 90,000
10% Debenture 1,50,000
Trade Payables (Creditors) 30,000
Fixed Assets (Net) 3,50,000
Inventories 45,500
Trade Receivables (Debtors) 12,500
Cash 62,000

TS / Unit-111

3. gy fafy qur ooy fafy g/ d=mem
Tfafafei ¥ ke ga® i MO 39 fohg

YhR hidl 7 ISRV dfed THSARU |

How will you calculate Cash flows from
operating activities by Direct method and
Indirect method ? Explain with examples.

3Y4qr / OR
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(3)

31 €, 201831 A, 2019
(%) (%)

e gsit 10,00,000 | 12,50,000
= 99 2,50,000 | 3,00,000
AY-BIH fereor o5
(3fa=h) 1,52,500 | 1,53,000
[GEALE 7,50,000 |  6,76,000
S BT (TTHIen) | 3,50,000 | -
F o fau grau™ 1,50,000 | 1,75,000
9= 7,50,000 | 8,45,000
qfH T He 10,00,000 |  9,50,000
it ~fi=+- 25,000
Y 5,00,000 | 3,70,000
TIRR 4,00,000 | 3,21,000
HERRETS 2,500 3,000
S H Uskhs ~fien- 40,000

o

Al F=rE —
(@) 99 2018-19 & <SRE ¥ 1,10,000
o fear @)

(b) HI= W HE A TH T 70,000 AT

From the data given below, prepare a Funds
Flow statement and the Schedule of changes

in working capital :
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(6)

31st March,|31st March,

2018 2019

(%) (%)
Share capital 10,00,000| 12,50,000
General Reserve 2,50,000] 3,00,000
Statement of Profit
and Loss (Surplus) 1,52,500 1,53,000
Creditors 7,50,000] 6.,76,000
Bank loan (Short-term)[ 3,50,000 Nil
Provision for Taxation 1,50,000 1,75,000
Plant 7,50,000 | 8,45,000
Land and Building 10,00,000| 9,50,000
Goodwill Nil 25,000
Stock 5,00,000 | 3,70,000
Debtors 4,00,000  3,21,000
Cash in hand 2,500 3,000
Cash at Bank Nil 40,000

Additional Informations :

(a) Dividend of ¥ 1,10,000 was paid during
the year 2018-19.

(b) Depreciation charged on Plant was ¥ 70,000.

Ta1e / Unit-IV

4. TH HEAT S IcUE oA §, ThH g9 h

fan = e TRId Rl ®
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(7)

TS (SR STCH| e TiH [ ST bl [He-3T9
A 5000 20000 160 20
B | 60000 | 120000 384 44
s Suftera fgar € -
el gl fdafaty amrd ¥ 5,50,000
T2-31q gl anrd 7 8,20,000
HT Tl AT 7 6,18,000

Amenl Tfafafy e @ra fafyr & emem
W IAE A Td B i Gfd THE AN i

TOMET R
A

7

company manufacturing

two products

furnishes the following data for a year:

Product|Annual output|Total machine|Total numbers of |Total numbers of
units hours purchase orders Set-ups
A 5000 20000 160 20
B 60000 | 120000 384 44
The Annual Overheads are as under :
Volume related activity costs T 5,50,000
Set-up related costs T 8,20,000
Purchase related costs T 6,18,000

You are required to calculate the cost per unit
of each product 4 and B based on Activity

based costing method.

374l / OR

DRG_237 (8)

(Turn Over)



(8)

Aed AT FERT T 7 e AN AR
o gEfted eyt o fafve =Ron @
EUERCTIE

What is Target costing ? Discuss the different

phases of methodology in respect of target
costing.

T&1e / Unit-V

5. USY YA YUTGH 9 9 @ WHS | ?
goY Yol YUMell & 3239, hE Td HHE
AT

What do you understand by Management
information system ? Explain the objects,
functions and limitations of Management

information system.

374l / OR

Jehd gfqaed @ SR RN SINE © 2
gy & faf =R W SHA-SE 9 fqeed
g few s €2

What do you mean by reporting to

management ? Which reports are submitted to
various levels of management ?
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